NAHIE! cheeerireneeceeereisree e e s smmseesssnesneeeens YTRERS Clﬁss: ...... feeremerrrenns Seetion 1 —Multiple Choice — Answer on the sheet provided.

SYDNEY TECHNICAL HIGH SCHO OL 1 The diagram shows the graph of the function y = 5x—-x".

e

Year 11 Which pair of inequalities specify the shaded region?

Mathematics Extension 1 A) y<Se-x"and y<0.
(B) y<5x—x"and y20. _

(©) y25x-x*andy<0,

Preliminary Course ©) y25x-viand y20.
Assessment 1
May, 2015
2 What is the solution to the equation [2x—5|=x+27?
, . A) x=1 -

Time allowed: 70 minutes ® =7 .

General Instructions: Section 1 Multiple Choice {€) x=lorx=7
Questions 1-3 D) x=lerx=-7

Marks for each question are indicated 5 Marks
on the question. Section T1 fions 6-11
Approved calculators may be used ection SiQ}:alizk:m . 3 If 3cosd+2=0 and fan&> 0, what is the exact value of sin(8 + 180°)7
All necessary working should be shown N N
TFull marks may not be awarded for . Ay -— . ® -
careless work or illegible writing 3 2
Begin each question on a new page J5 : N
Wrile using black or blue pen © EY : : o) R
All answers are to be in the writing -
booklet provided




4 A woman is standing on level ground 70 metres from the base of a vertical cliff, If the angle of elevation t
the top of the cliff is 40°, what is the hefght of the cliff, correct to the nearest metre? e

(A) 58 metres o SECTION I
(B) 5% metres T T T
(C) 60 metres (Start eaclt new question on a new page)
(D) 61 metres '\_
5 T s
QUESTION 6: (8 Marks)
| Mavks
i (a) Fully factorise, x* —xy* 2
What is the value of x?
(A) 18° ® 27° (b) Write down the exact value of sin®225° + cosec150° 2
{C) 36° ) 45°
(6) Solveforx: 27% x (3)*1 =81 2
241 2

@ State the Domain and Range of y = e

End of section 1




QUESTION 7: (8 Marks) Start a new page QUESTION 8: (8 Marks) Start a new page

Marks Marks
() If tanf=p and sect <0, find an expression for sind 2 (8) Solve for 0, if sin20 =cosf and 0° < 0 < 90° 1
®) Tifix =i— write _f(_er%f___(ﬂ as a simplified fraction. 3
@ ABCD is a quadrilateral with external angles o, B, yand 8. 2
Explain why sin(e+f+y+8)=0 (&) If ffi)=2x--3,find a simplified expression for ff{-x)} 2
@ Sketch the function y = ! showing all necessary information, 2
Va-x )
QUESTION 9: (8 Marks) Start a new page
Marks
(c) PQRS isarhombus, SA bisects i
ZRSQ $ P (a) Solve secf=-2 for ~180° < ¢ < 180° ) 2
£RSA = x°
2
Prove: (i) <RSP = 4x° (b) Consider the quadrilaieral BCDE where BC is parallel to ED and CB is produced to A,
2 ZECD = 98° ,BC=BE and EC=CD
(i) Z8AR = 3x° R A Q B C
C 1
A 98
3
.
E
Copy the diagram showiag all given information and find ths size of angle ABE, giving
16250DS.
- X—2
© Solve the inequality —— > -2 3

x+3




QUESTION 10: (10 Marks) Start a new page
Marks

(1) ()  Skeichtherogion y< 6 - ]2x| ona number plano
()  Solve 6-|2x] = Jx]
(itiy  Find the area of the region held simultanecusly by

V< 6-]2x] and y 21x]

(b)  Solvefor 8, 2sin’8 = sinfcosh, 0° £ 6 < 360°, correct to the nearest minute.

QUESTION 11: (% Marks) Start a new page
. Marks

(a) cosf
Show that sec8 +tmf = -
1—sing

(® @  Sketch the function /i) = x:ﬂ

@)  Onaseparate mumber plane, skefch the function y = - ffx) -1

(¢) Solve |x+2|+ |x—2|=6—4x

End of Assessment task
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